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Changing from Standard Form to Vertex form 

Notes: 

 

 

 

 

 

The axis of symmetry which is the vertical line through the vertex can be found from standard 

form cbxaxy  2  by the equation      __________x       

which gives you the h-value of vertex form. 

For each problem below change the standard form equation into vertex form and state the 

following: Does it open up or down, is it a stretch or a shrink or neither, what is the y-intercept, 

what is the axis of symmetry, what is the vertex. 

1) 1462  xxy  

 

 

 

 

2) 21102  xxy  

 

 

 

 

3) 44)( 2  xxxf  



Algebra 2  Name:____________ 

Mr. Doherty 

 

4) 26122  xxy  

 

 

 

 

5) 542)( 2  xxxf  

 

 

 

 

 

6) 57243 2  xxy  

 

 

 

 

 

 

7) 245705 2  xxy  


